W O N R WN e

e o O = N
A W N R O

15.
16.

17.
18.

19.
20.

21.
22.

Ms. Pac-Man Transformations

Start at (0.5, -9)

Reflection across line x = 0.5
Translation 1.5 units right to (2, -9)
Rotation 90° counterclockwise
Translation 3 units up to (2, -6)
Rotation 90° clockwise

Translation 6 units right to (8, -6)
Rotation 90° counterclockwise
Translation 9 units up to (8, 3)

. Rotation 90° clockwise

. Translation 3 units right to (11, 3)
. Rotation 90° counterclockwise

. Translation 3 units up to (11, 6)

. Two possibilities (UP THEN LEFT)

a. Reflection across line x=11 AND
Rotation 90° counterclockwise
b. Rotation 90° clockwise AND Reflection
across line x =11
Translation 3 units left to (8, 6)
Two possibilities (LEFT THEN UP)
a. Reflection across line x =8 AND
Rotation 90° counterclockwise
b. Rotation 90° clockwise AND Reflection
across linex=8
Translation 3 units up to (8, 9)
Two possibilities (UP THEN LEFT)
a. Reflection across line x =8 AND
Rotation 90° counterclockwise
b. Rotation 90° clockwise AND Reflection
across linex=8
Translation 3 units left to (5, 9)
Two possibilities (LEFT THEN DOWN)
a. Reflection across line x =5 AND
Rotation 90° clockwise
b. Rotation 90° counterclockwise AND
Reflection across line x =5
Translation 3 units down to (5, 6)
Two possibilities (DOWN THEN LEFT)
a. Reflection across line x =5 AND
Rotation 90° clockwise
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b. Rotation 90° counterclockwise AND
Reflection across line x =5
Translation 3 units left to (2, 6)
Two possibilities (LEFT THEN UP)
a. Reflection across line x =2 AND
Rotation 90° counterclockwise
b. Rotation 90° clockwise AND Reflection
across line x =2
Translation 4 units up to (2, 10)
Two possibilities (UP THEN LEFT)
a. Reflection across line x =2 AND
Rotation 90° counterclockwise
b. Rotation 90° clockwise AND Reflection
across line x =2
Translation 3 units left to (-1, 10)
Two possibilities (LEFT THEN DOWN)
a. Reflection across line x =-1 AND
Rotation 90° clockwise
b. Rotation 90° counterclockwise AND
Reflection across line x = -1
Translation 4 units down to (-1, 6)
Two possibilities (DOWN THEN LEFT)
a. Reflection across line x =-1 AND
Rotation 90° clockwise
b. Rotation 90° counterclockwise AND
Reflection across line x = -1
Translation 3 units left to (-4, 6)
Two possibilities (LEFT THEN UP)
a. Reflection across line x = -4 AND
Rotation 90° counterclockwise
b. Rotation 90° clockwise AND Reflection
across line x =-4
Translation 3 units up to (-4, 9)
Two possibilities (UP THEN LEFT)
a. Reflection across line x = -4 AND
Rotation 90° counterclockwise
b. Rotation 90° clockwise AND Reflection
across line x =-4
Translation 5 units left to (-9, 9)

Used with http://robertkaplinsky.com/work/ms-pac-man/



